PUNJAB EXAMINATION COMMISSION

EXAMINATION 2020, GRADE 8 Model Paper

SCIENCE PART - B (Subjective Type)

Rubric with Model Answers
Instructions:- Main points of answer are given below each question. Marks for these points are given
against them. A student may present these points in the form of paragraph or points, both cases are
acceptable. If a student writes anything other than these points and if that is correct, he/she should be
awarded with marks but in consultation with Subject Specialist of PEC (03217917000).
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Q. No0.33. (a) What is nervous system? 2

S U/

Rubric: Award two marks for correct definition.
<J")ﬁ2»£~§{/7&//)

Acceptable Answer:
The system which carries messages from one part of the body to another and coordinates body function.
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(b) Describe the structure and function of neuron. (4)
-Q/uyf/:l&b'&u»zf

Rubric: Award one mark for each correct point.
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Acceptable Answer:
Part with nucleus is cell body, fine projections which receive messages are dendrites, a long projection which

conducts messages is axon, and function of neuron is to transmit.messages in the form of electrochemical
waves called nerve impulses.
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(c) Draw and label the diagram of neuron. 4)
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Rubric: Award two marks for correct drawing and two marks for labelling any four parts, 0.5 mark for each
correct labelling.
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Acceptable Answer:

1. Cell Body it
2. Dendrites 15
3. Nucleus u’“g/

4. Axon Ukl . TR
Q. No.34. (a) What is cytokinesis? (2
"Ag.l{’/'/j(jg;’"/
Rubric: Award two marks for correct definition. ALy P e
Acceptable Answer:
Division of cytoplasm during cell division.
_(:ﬁJrJQ;‘*’L/um;L(Sﬁde
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(b) Which of the characteristics given in the table are of mitosis and which are of meiosis?

(4)
?L}/}‘;ldu’u/j}lwu{f}&bay}".Jufc.uf:—y)‘;ﬁ’d)ufd‘;
Rubric: Award one mark for each correct identification. > / LI s L
Acceptable Answer: '
Characteristics =l Mitosis/Meiosis PARIPZAN
Two daughter cells are produced from one | mitosis Al
parent cell
w&)f7;:)¢,&ébfvgl
Consists of two cell divisions Meiosis o
‘aang}:ﬁ‘ /,:7""/,;5& 3
Number of chromosomes in the daughter | meiosis P
cells becomes half as in the parent cell
‘aalgnup)fctré&T}lﬂJ]}’f})/uf}fﬁ)
Somatic cells are produced Mitosis Pl
e K Q2

(c) Write the number of daughter cells produced from one onion cell and number of
chromosome in each daughter cell against the cells in the following table. Each parent cell in

onion plant has 16 chromosomes. 4
uf.’JfJgfﬁui'z_)gL)g_u:"g;lﬂnyr;/ui'Jf?')/w!ﬂJ}f?';Lu&;Jf_{!‘C)g&l/&}fuf‘ﬁ‘},}g/p
Bl rrys/16
Rubric: Award one mark for each correct filling. -w/.@(é.//;w/u{u
Acceptable Answer:
Type of cell Number of daughter cells produced | Number of chromesomes in
rb‘wf from one parent cell one daughter cell
)lﬂJkﬁ)Ll:éz,.c.Jféﬂvg ;l/ﬂJ/"}’/}/Uf&ﬁ:..{l
Skin cells Ll 2 16
Spores Jise 4 8

Q. N0.35. (a) A student adds baking soda (NaHCOs) and hydrochloric acid in a flask with a
balloon attached. The balloon inflates. Which evidence in the diagram shows that

reaction has taken place? (@)
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Rubric: Award two marks for writing correct reason.
_Q.’J/f‘;uiéig.?;w/:
Acceptable Answer:
The balloon inflates. Balloon
-CL'-H?J)‘{MV ol

Flask (-8

Hydrochlonc acid

.:l':ll_!'-:'. !‘.r:v‘;";-
Solid baking soda
; L

I3 b il
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(b) Write complete balanced chemical equations, name of products and test for the gas
produced for the reactants given in the above diagram.
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Rubric: Award two marks for each correct filling. ‘q;/»LL//;u/;,g
Acceptable Answer:
Complete balanced 2
equation NaHCO; + HCI ———» NaCl + H,O + CO»
:«bl/d)l?g};
Name of products Sodium chloride, water and carbon dioxide 2
(L'L:,Ma ST Juwm,l[}g Sk 1%
Test for the gas Turns lime water milky (2
produced <G/ i
et LoAE
(c) Write four uses of hydrochloric acid. 4
..u."w/ a1 G/Igéqu//)gﬁdﬂ
Rubric: Award one mark for each correct use. - A LIt e L

Acceptable Answer:
Cleaning rust from metals surface, purification of common salt, make aqua regia, make glucose from starch,
and proper digestion of food in our stomach etc.
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Q. No.36. (a) Draw a ray diagram of image formation on the figure given below. 4
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Rubric: Division of marks for ray diagram is given below.
Correct position of object (1), Correct rays (2), Correct image (1)
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Acceptable Answer: A © o 1B
A
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(b) What is the nature of image formed in part ‘a’? 2)

te e WEILn Ui 2o
Rubric: Award one mark for each correct point. _Q;/ugg&qyﬁug
Acceptable Answer:
Virtual, erect and diminished (small in size). 174 u:'//k//}llw,yqj/};/ﬁ

(c) Give two differences between image formed by convex lens and image formed by concave

lens. (4)
St Giini e A AT

Rubric: Award two marks for each correct difference. -2 /;}LJ/'.://M:’

Acceptable Answer:

Image formed by convex lens Image formed by concave lens
G e ZSE Gind e #r
Real & | Virtual Sz
Inverted ¢ | Erect ™
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Q. No0.37. (a) Define alternating current. (2
Ny NS
Rubric: Award two marks for correct definition.
_Qj;/.";uﬁbé}/?c//;

Acceptable Answer:
Current which changes its direction again and again after an equal interval of time.

—et S AN GISEE s S
(b) Describe the process of thermal power generation. (5)

LIS LeF it 2

Rubric: Award one mark for each correct step.

‘J”)/r‘;ug{rﬁ://:b{!
Acceptable Answer:
Fuel is burnt, steam is produced from water, steam turns the blades of turbine, blades of turbine are
attached to the lower end of the rotor shaft, rotating shaft turns the rotor which generates electricity.

2 QBB dn P (nSr e p & & I b QS Uy LA e Jodte e Jleatlolle” 2
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(c) Describe the problems involved in thermal power generation. 3
LS ie Fand F

Rubric: Award one mark for each correct problem.
-Lj”;/u{%&‘;/ﬂ.{l

Acceptable Answer:
Pollution, fuel is running short and its price is shooting up etc.

‘a};w%uftfwmu@/u”gmﬁﬁ
Notes:
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